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0| 24 A2 5,999,068 2,723,544 3,275,524
=2 158,500 12,500 146,000
Xl 264,000 264,000 0
s 200,000 0 200,000
[=4 13,000 5,000 8,000
2 5,363,568 2,442,044 2,921,524
0l 2 A ¢ 2,250,371 1,348,324 902,047
=2 158,500 12,500 146,000
Xl 264,000 264,000 0
s 200,000 0 200,000
[ 5,000 5,000 0
2 1,622,871 1,066,824 556,047
ZEA2H - EXNRX L =80 22 431,850 27,200 404,650
s 200,000 0 200,000
2 231,850 27,200 204,650
Ha=s0 2 431,850 27,200 404,650
s 200,000 0 200,000
2 231,850 27,200 204,650
201 22| 28,700 23,700 5,000
01 AF2 22| H 12,200 7,200 5,000
O gty 5,000 0 5,000
- DY ¥ B2 HBE M
5,0002 * 1,000% 5,000 0 5,000
202 O{H| 3,150 3,500 A 350
01 20 Y 3,150 3,500 A 350
O d=gs, 343 5 42 238 g8
23 3,150,000 3,150 3,500 A 350
401 AlZHIZ 20 400,000 0 400,000
s 200,000 0 200,000
2 200,000 0 200,000
01 Al&HI 397,120 0 397,120
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400,000,0002 * 99.28/100 397,120 0 397,120
= 200,000 0 200,000
=2 197,120 0 197,120
03 Al& 2 HH 2,880 0 2,880
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400,000,0008 * 0.72/100 2,880 0 2,880
AEEA 341,785 284,144 57,641
=2 12,500 12,500 0
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O =g+9 4,047 4,830 783
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AH 4,047,002 4,047 4,830 A783
03 & At2 2 bl 24,000 18,000 6,000
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1,500,000 * 43| 6,000 0 6,000
202 01t 1,950 1,100 850
01 =L 01 bl 1,950 1,100 850
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A 590,0008 590 700 A110
206 H 2 bl 5,400 6,000 A600
01 M2 bl 5,400 6,000 A600
O TR o BSH HRI M2
2 3,400,0009 3,400 4,000 A600
301 LB A 10,490 8,100 2,390
09 BAIAHIB A S 10,490 8,100 2,390
O 2T o ASSH 210 28 BE
20,0009 * 409 * 43| 3,200 0 3,200
O '®'Sel WsII® HOX DSH LAY
2 2,190,0009 2,190 3,000 £810
HYsEET 161,771 158, 187 3,584
201 Yer2 | 98,544 95,260 3,284
01 AbR 22t 84,244 79,860 4,384
O 2g+y 79,760 75,760 4,000
— CHMYT BASY 233 5,500,0002 5,500 1,500 4,000
O3 1,184 800 384
— TS 02 Z2IY 2Y
2 1,184,000 1,184 800 384
03 #AS bl 9,900 1,000 A1,100
O ®@=mMes SHBA  ZF 8,900,000 8,900 0,000 A1,100
202 04t 3,600 4,000 £400
01 =Ly o1 bl 3,600 4,000 2400
O Bysts ¥ =7 23 1,600,0009 1,600 2,000 £400
206 H 2 bl 9,900 1,000 A1,100
01 T2 bl 9,900 1,000 A1,100
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— TS UE UMY =
160,000& * 104 1,600 0 1,600
— BuSSHE SIFY FA
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01 AL 22l 1,800 2,000 £200
O 2g+g 1,800 2,000 A200
~ JlYsHDE BAME  ZE 1,800,008 1,800 2,000 £200
03 BAS bl 5,400 6,000 A600
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23 5,400,0002 5,400 6,000 A600
202 01t 4,000 0 4,000
FEPEELT] 4,000 0 4,000
O Jtg 24 8T 2402 we
2,000,0008 * 2% * 13| 4,000 0 4,000
301 LB AD 43,000 0 43,000
06 21201 =2/ 01 bl 40,000 0 40,000
O Jtg 24 8T 402 we
2,000,008 * 25% * 13| * 80/100 40,000 0 40,000
09 S AMAIHI 243 3,000 0 3,000
O Jtgiek 2 #Fsts 2 A3
50,0008 * 30% *23l 3,000 0 3,000
S A 1,326,854 900, 100 426,754
2 146,000 0 146,000
X 264,000 264,000 0
2 916,854 636, 100 280,754
BrEeAE2Y 602,654 493,100 109,554
201 Lyt HH| 355,340 324,340 31,000
01 At 22l bl 132,400 111,400 21,000
O g8yl 110,400 104,400 6,000
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01 = LH 4 Hi 6,894 7,660 AT66
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301 2ELE A= 11,120 11,800 A 680
09 &AL HI B A S 6,120 6,800 A 680
O SAH S &4 2 & 4,320,000& 4,320 5,000 A 680
307 glz2tol & 70,000 50,000 20,000
02 UANHFHAEEE 70,000 50,000 20,000
O 22s SAUEHM SHES AHXE
2 & 40,000,000& 40,000 20,000 20,000
401 AIEHI L 201 100,000 40,000 60,000
01 A& HI 100,000 40,000 60,000
O B2zl 3¢ RUHEX Z & 40,000,000& 40,000 20,000 20,000
O SEA ME2 AMENL(ZHY HAANE &
i) 2 2= 20,000,000 = 10024 20,000 0 20,000
O SHEFHA Het d X2 RA 2
20,000,000& * 1JH A 20,000 0 20,000
AADEte SAEFRHAL ZHAE 110,000 0 110,000
307 glztol & 110,000 0 110,000
05 QIRtRIE =2 110,000 0 110,000
O BESd&EAL 2 (A AHH, 2gH])
110,000,000& * 1A 110,000 0 110,000
ZTOEHH 29 162,200 0 162,200
= 146,000 0 146,000
i 16,200 0 16,200
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= 146,000 0 146,000
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5,000,000& = 14 5,000 0 5,000
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301 et a3z 1,350 1,500 A 150
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201 L2l 2,700 3,000 A 300
01 At 22l 2,700 3,000 A 300
O s & Hl 1,100 1,400 A 300
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202 odl 8,820 9,800 2980
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Z& 1,620,000& 1,620 1,800 A 180
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IENCTI 1,440 1,600 2160
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206 TH 2 b 15,000 5,000 0,000
01 2 bl 15,000 5,000 10,000
O 2 &g Z2ME O3Y WY
A 15,000,008 15,000 5,000 0,000
301 B A3 1,880 13,200 A1,320
09 BAAIHI &S 1,880 13,200 A1,320
O 4lsaZ2ME BOtY 59 K
2 1,880,0008 1,880 3,200 A1,320
=EBENEE 28,100 21,000 7,100
201 Yer 2 bl 10,000 6,000 4,000
03 A2 10,000 6,000 4,000
O ZZJI® R SO FF 10,000,000 10,000 6,000 4,000
202 01t 3,600 4,000 A400
01 =L o1 bl 3,600 4,000 2400
O TR £ RA 23 3,600,0009 3,600 4,000 £.400
206 T 2 bl 4,500 5,000 A500
01 M2l 4,500 5,000 A500
O 222 £X RA O3AY WEH)
A 4,500,0009 4,500 5,000 A500
301 LB A2 10,000 6,000 4,000
09 BAA YR A 10,000 6,000 4,000
O 2ZJI2 R SO  FF 10,000,000 10,000 6,000 4,000
TN 250,800 205,600 45,200
ZuDE2Y 250,800 205,600 45,200
ROTR S S XA (LX) 250,800 205,600 45,200
201 Yot 2 bl 187,600 152,600 35,000
01 AR 22l 187,600 152,600 35,000
O 24y 125,000 105,000 20,000
— UMY 23 90,000,0008 90,000 80,000 10,000
- NED4 4% A 35,000,008 35,000 25,000 10,000
O e 35,000 20,000 15,000
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301 LptR A2 41,000 30,000 11,000
09 SHAIAIHI 2 &2 41,000 30,000 11,000
O szsts 2 A3y 2= 41,000,000 41,000 30,000 11,000
=S/ 687,058 617,700 69,358
= 8,000 0 8,000
= 679,058 617,700 61,358
MU FA 687,058 617,700 69,358
= 8,000 0 8,000
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LA BHR| E A 329,930 276,700 53,230
< 8,000 0 8,000
= 321,930 276,700 45,230
201 LEr2 | 42,530 44,700 A2,170
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O xRz 4,230 6,000 A1,770
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2 4,230,0002 4,230 6,000 A1,770
03 A2 St 3,600 4,000 400
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2X 1,600,0002 1,600 2,000 A 400
202 01t 13,400 6,000 7,400
= 8,000 0 8,000
- 5,400 6,000 A 600
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< 8,000 0 8,000
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101 @121 8| 5,000 3,000 2,000
B EEN L 5,000 3,000 2,000




SA: DlfA D
HH: ALTEIM

SHol: MRER E4 CERED
SA-EB - BAEH) - NRAY - BHES 0l & o p/E-F HIDE2
O Zg=29A 30l 22l 23 5,000,000 5,000 3,000 2,000
201 YEr2 Y| 43,628 31,000 12,628
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O 2¥sTUX YFX 23
10,0008 * 20% * 53] 1,000 0 1,000
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23 2,330,0009 2,330 3,000 A670
202 01| 5,400 6,000 A600
01 201 Hl 5,400 6,000 A600
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23 5,400,0002 5,400 6,000 A600
207 &R} 2t 150,000 0 150,000
01 Pt 150,000 0 150,000
O 2 =8 2T F8 N S
150,000,008 * 14 150,000 0 150,000
301 LerE A3 2,880 3,200 A320
09 BAAHI 2 A2 2,880 3,200 £320
O 453 S SXNRI 23
233 1,680,0002 1,680 2,000 £320
401 A& HI L 2Ol 1,018,158 0 1,018, 158
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O P)Hstll LS 2 5 HiS
20,000,002 * 14! 20,000 0 20,000




SA: OleHat
g g2leE s
SHol: QN2 SRR E A 3 (che: =2l
SA-EB - BAEH) - NRAY - BHES 0l & o p/E-F HIDE2
O 2UAENRA H43 =21X EX MY HS
900,000,000& = 14 900,000 0 900,000
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802 gH& = JIEF 1,090,651 0 1,090,651
01 I DEXSHE= 1,090,651 0 1,090,651
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